Yy
r lpmr mliidi————— i rn o i —m — —  — — — — — — Y — — — ——— —— —
N Single Function Toggle (S.F.T.) Switch
w/ Drive Lockout
(Standard On-Chair After 1/17/99)
)
P (”Z\ ‘\\2 "
P 73
Limit switch // S/ { 3\/,\ .
mounted on \X// g oA ]l
back cane ! e = | [P
)\ A
\:\\ //
S /
g |
S
<
\:\\\\ //AN
\\i~ 4 \&\\
Charger plug bracket T \s\ \\\ - A_JE
reference only. T— e
\\\ “To recline actuator
)l
VN
o Sy
O 3) / /ﬁ —— 24 Volt accessory cable
NEAL PN /s
™y __-Storm battery
Charger Plug _ - ||I| charger plug

—\ \j> Male charger reference only..

(19) = connector —
r___——____——___: _________ ,_\ _______ (5)___—|
| Armrest Push bar (T o — 14) — |
| reference oply. reference \ogly. :;\7,>§ \\\ . S |
| i ) |
| (17— 8 @\\ J Joystick |
| N \V//A\ e \,V"\‘ " reference only. |

b \ | | 6 )// J \_//
I - = I
| . Joystick \ [ |
| teferencenty Limit switch RNy |
| reference only. »Stud plate and |
N . | screw
I ) \2/’ (\f/)i . reference only. I
/ N TN TN A
| N |B) (/\Z) \\ | Eg\\Quad link locking |
| Uy (8)— L L bl |
) N N ~. T AN reference only.
| | S, |
| (\I /) |
| oystick Tube Quad Link |
| 4 |
L Mounting Hdwr. Mounting Hdwr. |

S.F.T. Switch w/ Drive Lockout Built In

(After 1/17/99)
Basic Recline 4XP




S.F.T. Switch w/ Drive Lockout Built In

(After 1/17/99)
Basic Recline 4XP

Quantity Per
Iltem
Number| Note | Part Number |Description Package | Assembly
1 AC 1068182-NLA | NLA - Switch, S.F.T. with Drive Lockout Retrofit Kit 1 1
2 AC 1068083-NLA | NLA - Switch, S.F.T. w/ Drive Lockout Assembly 1 1
3 1068178-NLA | NLA - Harness, Wiring, S.F.T. Switch w/ Drive 1 1
Lockout
4 D 0018600-NLA | NLA - Switch, Limit - Molex Style 1 1
5 1068177-NLA | NLA - Kit, Hardware, Attaching, S.F.T. Switch w/ 1 1
Drive Lockout Retrofit
B 1077196-NLA | NLA - Instruction Sheet 1 1
6 F 1068171-NLA | NLA - Bracket, Joystick Mounting, Black 1 1
6 E 1068087-NLA | NLA - Bracket, Quad Link Mounting, Black 1 1
7 0224806-NLA | NLA - Washer (#10) 1 2
8 0067006-NLA | NLA - Screw, Cap, Socket Head (#10-32 x 1/2") 1 2
9 0051206-NLA | NLA - Screw, Machine, Hex Socket, Button Head 1 2
(1/4-20 x 1-1/4)
10 1049586 Half Clamp, Non-Threaded Holes 1 1
11 1049584-NLA | NLA - Half Clamp, Threaded Holes 1 1
12 313329-NLA | NLA - Screw, Phillips Pan Head (#6-32 x 1/2") 1 2
13 0143205-NLA | NLA - Locknut, Low Profile (#6-32) 1 2
14 0139306-NLA | NLA - Screw, Socket Button Head (#10-32 x 3/4") 1 1
15 1077143 Lockwasher, External Tooth (#10) 1 2
16 0062800-NLA | NLA - Bracket, Cable/Wire Mounting, Black 1 1
17 7930332-NLA | NLA - Locknut, High Profile (#10-32) 25 1
18 317601-NLA | NLA - Locknut, Low Profile (#10-32) 1 2
19 98000X055 Fuse, Automotive (15 AMP) 1 1
B 0154500-NLA | NLA - Cable Tie, Black (4") 1 6
B 0152400-NLA | NLA - Tie Wrap, Black (8" L) 1 6
NOTE: A - New style S.F.T. switch has the drive lockout feature built in.
B - Not Shown.
C - After 1/17/99
D - Molex Style
E - Use with Quad Link before 4/07/06

F - Use with Joystick Tube and Quad Link (QLA) after 4/06/06




